


Two sentences are given below. Five options are given for the 

two sentences. Choose the correct option.



1. The employees have expressed discontent against the move and have 

given a notice to go on an indefinite strike from October 12.

2. Below the Atma Nirbhar Bharat package, the government has 

announce that to improve autonomy, accountability and efficiency in 

ordnance supplies, it would undertake the corporatisation of the 

Ordnance Factory Board. 

1. If only sentence 1 has error

2. If only sentence 2 has error

3. If there is an error in both 1 and 2

4. If there is no error in both sentences

5. If there is more than one error in either of the two sentences



1. However, as ordnance factories are also an industry under the 

Industrial Disputes Act 1947, provisions of other labour legislations are 

also applicable on them.

2. In their 200-year old history, Ordnance Factories have travelled a long 

way from being under the Indian Army initially to the Department of 

Defence Production with a board structure.

1. If only sentence 1 has error

2. If only sentence 2 has error

3. If there is an error in both 1 and 2

4. If there is no error in both sentences

5. If there is more than one error in either of the two sentences



1. Donald Trump, speaking to people whose homes and natural 

surroundings have been devastated, blamed the blazes on people and 

authorities not “raking the forest floor” or “clearing dead timber”.

2. The intensity of wildfires in California has caused consistent damage 

on the America’s most populous, richest and politically significant state.

1. If only sentence 1 has error

2. If only sentence 2 has error

3. If there is an error in both 1 and 2

4. If there is no error in both sentences

5. If there is more than one error in either of the two sentences



1. All the websites that were studied had third party trackers and on 

average there were 22 such trackers for each website.

2. Seventy-five per cent of Android apps sought and used the location of 

the user even though half of them did not need this for the functionality 

they provide.

1. If only sentence 1 has error

2. If only sentence 2 has error

3. If there is an error in both 1 and 2

4. If there is no error in both sentences

5. If there is more than one error in either of the two sentences



1. A pre-pandemic study done by Arrka, a Bengaluru based cyber 

security firm throws fascinating light on the approach to digital privacy 

of consumers.

2. The study highlight the difficult choice for a consumer in availing a 

customised, convenient and cheap service even though it may entail 

sharing a lot more of their digital footprint.

1. If only sentence 1 has error

2. If only sentence 2 has error

3. If there is an error in both 1 and 2

4. If there is no error in both sentences

5. If there is more than one error in either of the two sentences



In the following questions, a sentence has been divided into 

four parts , in which there must be one 0r more errors , you 

have to find out the parts with no error, and if all the parts are 

correct , then mark all are correct.



The former diplomat talk about his academic life, (A)/ 

which began on a Malayalam medium school (B)/ at

Kayamkulam, and shares (C)/ his views on India’s 

education system. (D)/ All are correct (E)

1) C and D

2) B and D

3) D and A

4) A and B

5) All are correct



Machine learning and artificial intelligence will proactively 

(A)/ analyse past data and throw up probable breakdown

(B)/ scenarios, based on which companies will need to (C)/ 

offer preventive solutions before the actual breakdowns 

occur.(D). (D)/ All are correct (E)

1) C and D

2) B and D

3) D and A

4) A and B

5) All are correct



The focus will be to hire data analysts whom can (A)/ 

significantly enhance productivity by seeing (B)/ pattern in 

the data and developing (C)/ better way of doing things. 

(D)/ All are correct (E)

1) C and D

2) B and D

3) C and A

4) A and B

5) All are correct



The Japanese, however, could not capitalise as she (A)/ hit 

wide and Sindhu unleashed two sensational (B)/ returns,

including a quick return in serve, (C)/ to once again open 

down a five-point cushion. (D)/ All are correct (E)

1) C and D

2) B and D

3) D and A

4) A and B

5) All are correct



She led 10-8 before entering the break with a (A)/ three-

point advantage after producing (B)/ another scintillating 

crosscourt (C)/ smash on her rival’s backhand. (D)/ All are 

correct (E)

1) C and D

2) B and D

3) D and A

4) A and B

5) All are correct



In scenes similar to the World Championship final (A)/ in 

Glasgow in August, this match (B)/ gone down to the wire 

as the duo (C)/ engaged in a battle for attrition and nerves.. 

(D)/ All are correct (E)

1) A and B

2) B and D

3) D and A

4) A and C

5) All are correct



The 22-year-old came agonisingly close to clinching the 

(A)/ title before finishing runner-up once again in she third 

(B)/ major tournament, following last year Rio Olympics 

(C)/ and this year Glasgow World Championship. (D)/ All 

are correct (E)

1) C and A

2) C and B

3) D and A

4) A and B

5) All are correct



Amidst applause from the gathered personnel, (A)/ who had 

flown the iconic craft, the military grey machine (B)/ slowly

lifted in the Bengaluru skies in a swan song, (C)/ its long 

rotor whirring as it literally melded into orange sunset. (D)/ 

All are correct (E)

1) A and C

2) B and D

3) D and A

4) A and B

5) All are correct



According to the respected annual BainDasra India 

Philanthropy Report, (A)/ private individual donations in 

the past five years (B)/ have grown faster than either

foreign donations (C)/ or corporate donations via CSR or 

government welfare funding. (D)/ All are correct (E)

1) C and D

2) B and D

3) D and A

4) A and B

5) All are correct



I was able to go only because an anonymous American (A)/ 

family give money for the scholarship I (B)/ never knew

a family (C)/ and would never know them.(D)/ All are 

correct (E)

1) C and D

2) B and D

3) D and A

4) A and B

5) All are correct
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